

MEHRAN UNIVERSITY OF ENGINEERING & TECHNOLOGY JAMSHORO 76062, SINDH, PAKISTAN



PROCUREMENT MANAGER U.S.-Pakistan Center for Advanced Studies in Water

No. PM/USPCAS-W/MUET/JAM/-126

Dated: 08-Dec-2017

Assistant Manager (A&F)

Sindh Public Procurement Regulatory Authority (SPPRA), Services General Administration & Coordination Department Government of Sindh, Barrack No. 8, Sindh Secretariat No.04-A, Court Road

KARACHI

Ph. NO. 021-9205356-69

Subject: -

SUBMISSION OF MEETING MINUTES AND BID EVALUATION REPORT OF THE WORK "PROCUREMENT OF FURNITURE ARTICLES AT USPCAS-W, MUET, JAMSHORO".

NIT NO. DD (PROC.)/MUET/JAM/-110, DATED: 23-10-2017

SPPRA SERIAL NO. 34901, DATED: 24-10-2017.

Dear Sir,

Please find enclosed herewith the minutes and the Bid Evaluation Report furnished in accordance with the Rule 41(9) of SPP Rules 2010 (Amended 2017), for your information and necessary action at your end.

- 1. Bid Evaluation Report (Original signed)
- 2. Minutes of Bid Opening Committee (Original signed)
- 3. Comparative Statement (Original signed)
- 4. Bidders Qualification Report (Original signed)
- Attendance Sheets (Original signed)

Procurement Manager USPCAS-W

Copy f.w.cs for information to:

- 1. The Project Director, USPCAS-W, MUET, Jamshoro
- 2. The Secretary to the Vice Chancellor, MUET Jamshoro

SPPRA INWARD DIARY NO: 3455 DATED: 11-12-17

Bid Evaluation Report

1. Namé of Procuring Agency: U.S-Pakistan Center for Advanced Studies in Water, Mehran University of Engineering & Technology, Jamshoro

2. Tender Reference No: PM/USPCAS-W/ MUET/JAM/110, Dated: 23-Oct-2017

3. Tender Description/Name of work/item: PROCUREMENT OF FURNITURE ARTICLES FOR USPCAS-W, MUET, JAMSHORO.

4. Method of Procurement: Domestic/ Local

5. Tender Published: MUET Web Site on 24-Oct-2017 and on SPPRA Website 24-Oct-2017 SPPRA Sr. No. 34901 "The News" on 28-Oct-2017 "Jung" on 25-Oct-2017 & "Sindh Express" on 25-Oct-2017

6. Total Bid documents Sold; 03 Nos

7. Total Bids Received: 02 Nos

8. Technical Bid Opening date: (if applicable) N/A

9. No. of Bid technically qualified (if applicable): 02 Nos

10. Bid(s) Rejected: Nil

11. Financial Bid Opening date: 15-Nov-2017

12. Bid Evaluation Report:

S No	Name of Firm or Bidder	Cost offered by the Bidder	Ranking in terms of cost	Comparison with Estimated cost	Reasons for acceptance/ rejection	Remarks
0	1	2	3	4	5	6
I.	M/s Inter Home Furniture (Pvt) Ltd., Hyderabad	ITEM WISE COMPARATIVE STATEMENT ATTACHED				
2.	M/s Wazir Associate, Hyderabad					

Abdul Ghafoor Kandhir, Procurement Manager, USPCAS-W MUET, Jamshoro

Engr. Muhammad Mashooque Siddiqui,
Director Procurement,
University of Sindh, Jamshoro

Prof. Br. B. K. Lashari, Project Director, USPCAS-W, MUET, Jamshoro



MEHRAN UNIVERSITY OF ENGINEERING & TECHNOLOGY JAMSHORO 76062, SINDH, PAKISTAN



PROCUREMENT MANAGER

U.S.-Pakistan Center for Advanced Studies in Water

Name of Work: PROCUREMENT OF FURNITURE ARTICLES AT USPCAS-W, MUET, JAMSHORO.

MINUTES OF MEETING:

A meeting for opening of tender for the "Procurement of Furniture Articles at USPCAS-W, MUET, Jamshoro" was held on 15-11-2017 at 01:00 pm in the meeting hall of USPCAS-W, MUET, Jamshoro. The following members of tender Opening Committee were present:

 Dr. Bakhshal Khan Lashari Project Director, USPCAS-W, Convener

 Engr. Muhammad Mashooque Siddiqui Director Procurements, University of Sindh. Member

 Mr. Abdul Ghafoor Kandhir, Procurement Manager, USPCAS-W,

Member/Secretary

The Procurement Manager briefed the Committee members that the sealed percentage/ item rate tenders were invited as per SPP Rules 2010 for the said work vide NIT No & dated: PM/USPCAS-W/MUET/JAM/110, 23-10-2017 with purchasing date started from 27-10-2017 to 14-11-2017, submission date was 15-11-2017 up to 12:30 pm, whereas opening date was 15-11-2017 at 01:00pm. The Procurement Manager further briefed that three (03) bidders purchased the Bidding Documents and only two (02) bidders submitted the bids in time. After that, the Contractors were called in the office of the Project Director, so that Bidding Documents can be opened in their presence under Rule-41 of SPP Rules 2010. The following venders took part in the bidding process:

- 1. M/s Inter Home Furniture (Pvt) Ltd., Hyderabad
- 2. M/s Wazir Associate, Hyderabad

Attendance sheet attached

The Committee started the proceedings of opening of tender in-front of aforementioned bidders and read aloud the names of each bidder one by one by opening their respective bids and also read aloud bid amount and other details as depicted here under:

S#.	Name of Firm or Bidder	Contractor quoted bid amount in Rs.		
1	M/s Inter Home Furniture (Pvt) Ltd., Hyderabad	Comparative Statement		
2	M/s Wazir Associate, Hyderabad	attached		

After detailed discussion & deliberations, the Committee recommended to award the work order on item rates to the lowest venders.

The meeting ended with the vote of thanks to all the members.

Abdul Ghafoor Kandhir, Procurement Manager,

USPCAS-W MUET, Jamshoro Engr. Muhammad Mashooque Siddiqui, Director Procurement.

University of Sindh, Jamshoro

Prof. Dr. B. K. Lashari,

Project Director, USPCAS-W, MUET, Jamshoro

Tel: +92-22-2771226, Tel: +92-22-2772250-72 (Ext. 2100) Fax: +92-22-2771382

E-mail: ag.kandhir@admin.muet.edu.pk, URL: water.muet.edu.pk

COMPARATIVE STATEMENT FOR PROCUREMENT OF FURNITURE ARTICLES FOR USPCAS-W, MUET, JAMSHORO

Sr. No.	Description / Secriff of the officers	Qty	M/s Wazir Associates, Hyderabad		M/s Inter Home Furniture (Pvt) Ltd, Hyderabad	
	Description / Specification of items		Unit Rate	Total Amount Rs.	Unit Rate	Total Amount Rs.
1	Providing and making Seminar Hall Desk overall Desk size 3'-6"x12' Desk sides made of lamination/ veneer board sheet, side thickness 1.5", approved color & shade wherever required with and including Sheesham wood lipping, and framing of required size, fixed with German Glue, Polished with NC lacquer etc, fixed in floor as per approved sample.	1	483,406.00	483,406.00	439,460.00	439,460.00
2	Providing & making High Back Stage chair leatherite seat and Back inside Master Molty Foam covered with leatherite frame made of Sheesham wood with termite proofing to all wood work with lacquer polish as per approved sample.	10	24,200.00	242,000.00	22,000.00	220,000.00
3	Providing & making fine quality soft board size 8'x4'x3/4", pressed with a German Glue as per approved sample.	3	11,000.00	33,000.00	10,000.00	30,000.00
4	Providing & making Single Seater Sofa cushioned seat & back inside Master Molty Foam cover with lather/ Fabric including pertal wood frame termite & control treatment etc; complete in all respect as per approved sample.	40	49,500.00	1,980,000.00	45,000.00	1,800,000.00
5	Providing & making Round Table dia size 1200mmx760mmH made of lamination & steel legs including 5 mm thick tin fixed in 1 1/2"x3" completely seasoned & with termite control treatment etc; complete in all respect as per approved sample.	12	30,800.00	369,600.00	28,000.00	336,000.00
6	Revolving Executive Chairs with arms cushioned seat & back covered with good quality leatherite& steel base as per approved sample.	24	17,369.00	416,856.00	15,790.00	378,960.00
7	Providing & making Visitors Chairs with arms made of Sheesham wood completely seasoned with Master Molty Foam seat & back covered with good quality leatherite of approved shed & color including all wood work of Sheesham wood finished with sprit polish & termite control treatment etc; in all respect as per approved sample.	30	10,725.00	321.750.00	9,750.00	292,500.00
8	Providing & making Wall double Panel shelves laminated almirah size 6'x3'-8" inside four shelves made of lamination veneer board 700 density approved color & shade wherever required with & including Sheesham wood lipping & framing of required size, fixed with German Glue, polished with NC lacquer, etc; complete all fittings locks, handles, (approved complete in all respect, as per approved sample	10 (21.9 ft ²)	2,200 00	481,800,00	2,000.00	438,000.00
9	Providing and making Pedestal 430mmWx530mmDx710mmH two draws made of lamination/ Veneer board. Frame made of Sheesham wood with termite control treatment to all wood work, complete with lacquer polish as per approved sample.	12	19,800.00	237,600.00	18,000.00	216,000.00
10	Providing & making Fixing Long Glass double panel shelves in 2"x1" strips, including lamination with glass & framing of required size, fixed with German Glue, polished with NC lacquer, etc; complete all fittings locks, handles (approved complete in all respect as per approved sample.	2 (22 ft²)	2,750.00	121,000.00	2,500.00	110,000.00
11	Providing & making Cabinet double filing door size 2'-4"x3'-0" inside shelves made of lamination/ Veneer board & glass 700 density approved color & shade wherever required with & including Sheesham wood lipping & framing of required size, fixed with German Glue, polish D with NC Lacquer, etc; complete all fitting locks, handles, (approved complete in all respects, as per approved sample.	2500 sqft	2,200.00	5,500,000.00	2,000.00	5,000,000.00

- FUR5

No. of the second

fin

Sr.	Description / Specification of items	Qty	M/s Wazir Associates, Hyderabad		M/s Inter Home Furniture (Pvt) Ltd, Hyderabad	
No.	Description / Specification of items		Unit Rate	Total Amount Rs.	Unit Rate	Total Amount Rs.
12	Providing & making Corridor chair finish green seats natural legs with good quality leatherite as per approved sample.	48	11,000.00	528,000.00	10,000.00	480,000.00
13	Providing & making Meeting table size 10'x3'-10"height made of Sheesham wood & lamination board 700 density, all wood framing & lipping with Sheesham wood, complete with lacquer polish, termite control treatment to all wood work etc; as approved sample.	2	114,323.00	228,646.00	103,930.00	207,860.00
14	Providing & making Wooden Stripped benches for lobby overall bench size 4'x2' bench top made of Sheesham wooden strip with good quality wood & steel framing as per approved sample.	30	33,000.00	990,000.00	30,000.00	900,000.00
15	Providing & making Meeting Table overall table size L:1200mm W:1200mm H:760mm made of Sheesham/ lamination board 700 density top & sides 1.5 thick Sheesham wood lapping & framing in required size polish with NC lacquer including termite control treatment to all wood work design as per approved sample.	6	35,563.00	213,378.00	32,330.00	193,980.00
16	Providing & making Wooden Planter size 2'x2' made of Sheesham/ lamination with good quality of NC Lacquer polish as per approved sample.	40	3,300.00	132,000.00	3,000.00	120,000.00
17	Providing & making SHELVES for LIBRARY size 3'-4"x7' made of Sheesham/ lamination board 700 density top & sides 1.5 thick Sheesham wood lapping & framing in required size polish with NC lacquer including termite control treatment to all wood work design as per approved sample.	400 sqft	2,200.00	880,000.00	2,000 00	800,000.00
18	Providing & making Rack for (Corridor) size 3'x2' made of lamination/ Veneer board 700 density top & side 1.5" thick Sheesham wood lipping & framing in required size fixed with German Glue polish with NC Lacquer, as per approved sample.	6	11,000.00	66,000.00	10,000.00	60,000.00
19	Providing & making (Kitchenette) as per requirement made of lamination board 700 density top & sides 1.5" thick Sheesham wood lipping & framing in required size, fixed with German Glue, polish with NC lacquer, fixed in wall including termite control treatment to all work etc; as per approved sample.	2	2,200.00	220,000.00	2,000.00	4,000,00
20	Revolving Reception Stool with arms cushioned seat & back covered with good quality leatherite& steel base as per approved sample.	2	19,800.00	39,600.00	18,000.00	36,000.00
21	Steel Stools for Laboratory with Compete covered with steel frame made of steel to all work complete with as per approved sample.	50	8,800,00	440,000.00	8,000.00	400,000.00
22	Providing & making gas Cylinder Boxes made of metal squire bars with oil pint size 1'-6"x4' as per approved sample.	5	13,200.00	66,000.00	12,000.00	60,000.00
23	Providing & making (Brochure rack) overall rack size 2'x4'-6" rack sides made of lamination/ Veneer board sheets color & shades wherever required with & including Sheesham wood lipping fixed with German Glue polish with NC Lacquer etc; as per approved sample.		11,000.00	55,000.00	10,000.00	50,000.00
24	Providing & making Book shelves size 4'x6' made of Sheesham wood & lamination board 700 density all wooden framing & lipping with Sheesham wood, complete with Lacquer polish, termite control treatment to all wood work etc; as per approved sample.	10 (24 ft²)	2,200.00	528,000.00	2,000.00	480,000.00

LIBST

No.

felis.

Sr. No.		Qty	M/s Wazir Associates, Hyderabad		M/s Inter Home Furniture (Pvt) Ltd, Hyderabad	
	Description / Specification of items		Unit Rate	Total Amount Rs.	Unit Rate	Total Amount Rs.
25	Providing & making Wall wood cabinet/shelves size 3'-6"x5' made of lamination/ Veneer board, frame of made of Sheesham wood with termite control treatment to all wood work, complete with Lacquer polish as per approved sample.	20 (17.5 ft²)	2,200.00	770,000.00	2,000.00	700,000.00
26	Providing and making std box lockers for lobby size 1'-2"x2'-6" made of Lamination, Veneer board, frame of made of Sheesham wood with termite control treatment to all wood work, complete with Lacquer polish as per approved sample.	8 (4.1 ft ²)	2,420.00	79,376.00	9,020.00	72,160.00
27	Providing and making revolving table size 4'x6' made of veneer board, side thickness 1.5" approved colour and shaes wherever required with and including shesham wood lipping .and framing of required size all wood work, complete with Lacquer polish as per approved sample.	5	66,000.00	330,000.00	60,000.00	300,000.00
-	Total Rs.		15,753,012.00			
	The state of the s	21% Taxes included TOTAL AMOUNT RS.		3,308,132.52 19,061,144.52		2,966,233.20 17,091,153.20

Abdul Ghaloor Kandhir Procurement Manager USPCAS-W, MUET, Jamshoro

> Dr. B. K. Lashari Project Director, USPCAS-W, MUET, Jamshoro

Engr. Muhammad Mashooque Siddiqui Director Procurement,

University of Sindh, Jamshoro

U.S.-Pakistan Center of Advanced Studies in Water (USPCAS-W) Mehran University of Engineering & Technology (MUET), Jamshoro

Attendance Sheet

Name of Work: Procurement of Furniture Articles for USPCAS-W, MUET, Jamshoro

Dated: 15-Nov-2017

S#	Name of Vendor/ Company/ Contractor	Name of Company Representative	Signature	Quoted Amount	Earnest Money	Remarks
1	M/s Inter Home Furniture (Pvt) Ltd, Hyderabad	Mahammad Hajeer Sarhandi	FEREN	Re 17328313-	346600/=	_
2	M/s Wazir Associate, Huderabad	Dania Burashi	Ly	Pr. 190 6/114_6	0 581250-w	-
3	M/s Delhi Furniture House, Hyderabad	- ,	_	_	I	1

Mr. Abdul Ghafoor Kandhir, Procurement Manager,

Procurement Manage USPCAS-W,

MUET, Jamshoro

Engr Muhammad Mashooque Siddiqui

Director Procurements University of Sindh Prof. Dr. B. K. Lashar

Project Director,

USPCAS-W, MUET, Jamshoro

BIDDERS QUALIFICATION REPORT

TENDER NAMELY

Name of work: PROCUREMENT OF FURNITURE ARTICLES FOR USPCAS-W, MUET, JAMSHORO

1	Name of Procuring Agency	U.S-Pakistan Center for Advanced Studies in Water (USPCAS-W), MUET, JAMSHORO					
2	Tender Reference Number	PM/USPCAS-W/ MUET/JAM/110, Dated: 23-Oct-2017 SPPRA Sr. No. 34901 dated 24-10-2017					
3	Method of Procurement	Single Stage- One Envelope Procedure					
4	Name of Firm / Bidder	M/s Wazir Associate, Hyderabad	M/s Inter Home Furniture (Pvt) Ltd., Hyderabad				
5	Registration with Income Tax Department	Yes	Yes				
6	Registration with GST	Yes	Yes				
7	Bank Statement showing Annual Turnover of Rs.500,000/-	Yes	Yes				
8	Tender Fee / Cost of Bidding Document.	Submitted	Submitted				
9	5% Earnest money	Submitted	Submitted				
10	Firm has not been Blacklisted previously by any executing agency.	Not Blacklisted.	Not Blacklisted.				
11	All documents / information furnished are true & correct.	Yes Yes					
12	Compliant / non-compliant.	Compliant Compliant					

Abdul Ghafoor Kandhir

Procurement Manager

USPCAS-W, MUET, Jamshoro

Engr. Muhammad Mashooque Siddiqui

Director Procurement,

University of Sindh, Jamshoro

Dr. B. K. Lashari

Project Director,

USPCAS-W, MUET, Jamshoro